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COURSE CODE: 10B11PD411 MAX. MAS: 25
COURSE NAME: Financial Management MAX. TIME; 1 :
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Note: All questions are compulsory. Carrying of mobile phone during examinations will be:fve

unfair means. Make suitable assumptions wherever necessary.

Q1. Calculate the followmg ratios for both the years and prepare the comparative statemen%@%;m the information given
ag 4] and Return on

capltal employed. b,
Liabifities 2002 2003 Assets . o[ 2002 2003
Equity share capital 1,00,000 1,25,000 { Land ar;g,\Bwldlngs 50,000 75,000
General Reserve 20,000 18,000 P!ar;wt«ix aehl‘h"er;y 57,500 55,000
Profit & Loss Afc 10,000 7,500 | Stogk %, "%, 10,000 | 12,500
Creditors 5,000 6 ZSO@E;D% or; ) 7,500 | 10,000
Bills payable 5,000 13,250°[% ank 5,000 7,500

T&Recelva hie 10000 10,000

1,40,000 1,40,000 | 1,70,000

Profit & Loss A/c. Particulars Particulars 2002 2003
To Op. Stock 10,000 | By Sales 62,5001 1,12,500
To Purchase 47,500 } By Closing Stock 10,000 12,500
To Office Exp. 10,000 | By Profit on Sale of 2,500 -
To Selling exp. 12,500 | Furniture
To Financial Expenses /"™, 15,000
To Net Profit 30,000

75,000 1,25,000 75000 1,25,000
(8 Marks) CO3

Q2.a) Calcula;g thequuated Monthly Instailment for a loan of Rs. 40 lakh @ 8% p.a. for a 20 year term. Show the
amorttza%qn scﬁ@ég}ulé““fbr the first five instaflments.

b) H E ust be invested at 10% every year for a company to be able to redeem its preference capital of Rs
8@%% ,%years How much would be the installment if the same investment is made at the beginning of each year?

SW (4 + 2 Marks) CO1

P.T.O.



Q3. a) Explain the utility of Dupont Analysis,
(2Marks) CO3

Q4. Calculate the post tax cost of debt for a company which issues a debenture of face value of Rs. 1000, carryi
interest rate of 12% and to be redeemed at par after 10 years. The debenture is sold at Rs. 1050. The floatati n €
being 5% and the tax rate applicable to the company is 35%. {2 MarkgFeQ4 ™

Q5. Calculate the present value of the following cash flow stream.

Year(s) 0 1
Cash flow -100000 30000
Discount rate 11%

Q6. Answer the following briefly {max 50 words):

a} What is the role of the finance function in an organization?

b) How are current assets different from fixed assets? %, @ "A@ *
¢} Why the Balance Sheet is called the sources and appllc@ﬁ% st‘%;}m Aty
d) What is the limitation of majority rule voting? ::;if; i "“i%

e)

(5 Marks) CO1




